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I 12 mwn:invalid m¥np (see X:2 0’nar)- even affecting RVIN nnn
a  Personal status: oy 9120 ;] 31
b Incomplete in his preparation: D93 DT PINT RY 01193 70NN ,DITI2 10NN
¢ Seated: seated, standing atop vessels, animal or a fellow’s feet
d  Left hand: if he did nxnp with the left
i Dissent (77132 13): he may return it and do with the right hand
e  Material: if he did n¥np and a pebble, particle of salt or of n111% was in his palm - invalid
i Reason: over- or under-n¥np is invalid
1 Over: heaping (above his fingers)
2 Under: if he only used the tips of his fingers
I Analysis of introductory line — RoIN NNIn »ar
a  Justification: needed for v”; homily (xn»11) about nrvn nnan = R™o if a »10a does n¥np, it is valid — H"np
i Challenge: then why isn’t this paralleled in ®:2 n'nar (i.e. making explcit mention of nxkvn, which has no n’>v3)
ii ~ Answer: since we established that ®:X mmin is not inclusive of v™), needed to show that he assents here
I 27’s caveat about the invalidity of n¥'np done by these n’%10a
a  Ruling: in any case, (e.g. 71), he can return the ymp to the original '3 and re-do properly
i Challenge: our mwn reads ">va”
ii  Defense: Y08 means it isn’t sufficient until redone (not that it has invalidated)
1 Challenge: that is simply nna 12’s opinion (assumption — his dissent applies to all, not just left hand)
2 Answerl: 1121 agree in case the entire WY is intact (after returning ymp to »93);
(a) Disagreement: only when it is now deficient, whether he may add more to complete the vy
(b) Rejection: if so, nywn should’ve explicated that — n1'na 11 saying that he should add more and redo
3 Answer2:11 is teaching that nvna 12’s ruling applies to all m'9109; X*10 only applies to left hand
(a) Explanation: left hand has a significant role in nTay (2”02 van 8Yn) and it “less 5108” > Y"np
(b) Challenge: 71 also has a valid role in nTay — he may perform nvnw
(i) Answer: NNV is not an nTMay
(ii) Challenge: it ought to be, as 871 1 ruled that nn1TR 719 NV NY is invalid if performed by a1
1. Reason: v> 721012 uses YR (V1717 §13) and npmn (implying it must be done exactly as stated)
(iii) Defense: nnYIR 719 isn’t nam »w1p, it’s 2"nT1 OWTP
1. Counter: then nvnw should be considered an nTay via 1"p — if 2”72 »0Tp, 1P to NN VTP
2. Defense (8”17 7772 K®»® 77): as per Y3 MRIN — not an N1y, yet must be done by 12
(iv) Challenge: infer from nna — where any nmay performed by a 11 is valid
1. Answer: we don’t infer from a nna
2. Challenge: we allow Rxv, if put up, not to be taken down (71 XY nYY DR) based on nna
a. Answer: that is guided by expansive read of n%wn nmn nxr (v. 1)
(c) Challenge: without 19, we already knew that 2”1 applies his “redo” to all 109 per kn»a (v. 2)
(i) Explanation: p’n infers from own ynp1 that it is taken from place Y87 is standing (with nnin)
(if) But: nnajainfers that it may be taken from where it was already taken (once —i.e. redo)
1. And: since the verse isn’t addressing any specific 2102 = all D910 equally “redoable”
4 Answer3: 21 means that even if he was already *>2 wTpn, it may still be redone
(a) Contra: wrin who holds that n1’na 12 only allowed “redo” if he hadn’t yet *931 w1pn
5  Answer3a: 27 means to limit 2”2’s “redoability” to a case where he wasn’t yet ¥931 w1pn
(a) Supporting: those DRIn
(b) Challenge (177): what is the position of those nRin?
(i) Lemmal: if they hold that »%va n¥np is considered Yv1a — should be invalid w/o wiTp
(if) Lemma2: if they hold that %05 n¥np isn’t considered Yv1a — shouldn’t be invalid even w/v1mp
(iii) Answer (17): they hold that it is Y019, but the act of n¥np is incomplete until 533 w1 Tp
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(c) Challenge: if 909 n¥np is a Y019 at point of putting in nw *%3, when he returns it to original »53 it
should invalidate
(i) Explanation: treat original mw »53 in which entire nmn is brought as receptacle for nx¥mp
(d) Answerl (7211 79): this proves that nw "3 aren’t wTpn without intent (of the vTpn)
(i) inference: they are wipn if there is intent — even if 108
(ii) challenge: 5" asked » if nw *%1 “sanctify” %10a for purposes of naIpn
1. and: his answer was that they are not wT1pn
2. defense: he meant that they may (still) not be offered, but they are w1pn for purposes of 5100
(e) answer2 (p3ny 37): if he put it into a (over-)full basket (pmp isn’t wTpn there as it doesn’t enter »53)
(i) challenge: if so, he couldn’t have been ynpn (the first time) from there
(ii) rather: he returned it to an exactly full basket
1. challenge: if so, when he took the ymp, he made a hole, where it returns (back to *93)
2. answer: if he put it on the rim and shakes it and it falls in (as if done “by a monkey”)
(f) question (7p77 ”7): why not answer that he returned it to the original *>> which was on the ground?
(i) Answer (r): can we infer that we may take ymp from a '3 which is on the ground?
(if) However: this is a question asked by 'n’ar in XTon "’s w1 N’
1. Tangent: "naR as teacher/student of n™
2. Question (7072285 3): how do we perform nxnp
a.  Answer: “from this »93” (he pointed to one on the ground)
b.  Challenge: do we take from one on the ground
i.  Answer: a 102 must lift it off the ground
3. Question (»n2ax5 177): how do we sanctify a nnin?
a. Answer: “by putting into this ¥53” (again, pointing to one on the ground)
b.  Challenge: do we sanctify on one on the ground?
i.  Answer: ana lifts it up
4. Challenge: do we need 3 07> for every nnan? (to hold both w53 and to do nxnp)?
a. Block: we even need 13 1113 for the Tnn (see n:1 8nY)
b.  Challenge: our mwn lists n¥'np and 952 w1p and Nvpn —not “lifting”
i.  Answer: it is only listing mTay 170, not every step in the procedure
(8) Question (asked of nww "): can we take ymp from a vessel which is on the ground
(i) Answer: infer from process of D190 DnY (1:X? MNN) — 4 D1NI take away last week’s bread and niaY,
another 4 bring in the new ones — but no mention of anyone lifting the jnYw
1. Explanation: taking the 211 is akin to n¥mnp
2. Challenge: we already answered that the mwn doesn’t list all 0’103, just the mmay
a.  Defense: in this case, it enumerated them —
b. Conclusion: we may take ymp from a 93 on the ground
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